












 

86365 College View Road Eugene, Oregon USA 97405 (541) 747 0034 
 www.rosenvisor.com Page 1 of 2 

 
Falcon 900 Series Monorail 

System 
 

 Drawing List 
RF-900-00 DL                Doc. # 9040-0135-003 
  

 
 
 

Date Revision Apprvd 
2/18/22 K  SYS 

R135 

Drawing # Replacement for Description Rev. 
3000 

 
3100 

*  1353000 RF900-300-1                
R1353000 

Falcon 900 Complete 
System 

B 

 * 1353100 R1353100 Falcon 900 Complete 3rd 
Axis System 

A 

1 1   1350300-001 RF900-100 Pilot Rail Assembly C 

1 1       1350301-001 RF900-100-1A Pilot Monorail D 

1 1          1350302 RF900-100-1 Bracket C 

1 1          1350303 RF900-100-2 Bracket C 

1 1          1350304 RF900-100-3 Bracket C 

2 2          1410105  Stand-Off E 

1 1          1230107   Mating Pin B 

1 1          1230108  Plug E 

1 1   1350300-002 RF900-100 Copilot Rail Assembly C 

1 1     1350301-002   Copilot Monorail D 

2 2        1350305 RF900-100-4 Bracket C 

1 1        1350306 RF900-100-6 Bracket C 

1 1        1350307 RF900-100-7 Bracket C 

2    1353400  RF900-300-3 Visor Assembly A 

2      1353401  RF900-200-1 Lens C 

2       1110202  Swivel Nut Plate E 

2      1120000-001 R1120000-001      RCBS-
100 

Complete Assembly Clamping 
Block 

K 

2         1120101-001 RCBS-100-7A 
R1120101-001 

Nut plate, Standard L 

2         1120102-001 RCBS-100-8AB 
R1120102-001 

Clamping Block Body L 

2         1120104 RCBS-300-11M 
1120104-002 

Thumb Knob – Original 
(Powder Coat) 

M 

2        1120203 RCBS-300-8 
R1120203 

Swivel, Clamping Block P 



 

86365 College View Road Eugene, Oregon USA 97405 (541) 747 0034 
 www.rosenvisor.com Page 2 of 2 

         Drawing List 
                        RF-900-00 DL                     Doc. # 9040-0135-003 

 
R135 

Drawing # Replacement for Description Rev. 
3000 

 
3100 

 2   1353410 R1353410 Visor Assembly, 3rd Axis A 
 2      1353411 R1353411 Lens, 3rd Axis A 

 2 
 

     1110202  Swivel Nut Plate E 

 2      1120000-003  3rd Axis Clamping Block K 

 2       1120101-001 RCBS-100-7A 
R1120101-001 

Nut plate, Standard L 

 2       1120102-001 RCBS-100-8AB 
R1120102-001 

Clamping Block Body L 

 2       1120104 RCBS-300-11M 
1120104-002 

Thumb Knob – Original 
(Powder Coat) 

M 

   2         1120200   3rd Axis Assembly D 

   2              1120207   Sleeve Body C 

   2              1120208   Sleeve Leg C 

  2              1120220  R1120220 Sleeve Assembly D 

   KITS   

  RCBS-300-11M  Kit, Standard Thumb Knob D 

      1120104-002  Thumb Knob M 

      RCBS-300-18  Spring  

      PCS-1000-14-STZ  E-Clip  

      

  RCBS-100  Clamping Block Assembly 
Kit 

E 

      1120000-001  Clamping Block Assembly K 

      1110202  Swivel Nut Plate E 

    832X716FSHCSSBP  Screw, 8-32 X7/16 Flat Socket 
Head 82° 

 

  832X14BSHCSSBP  Screw, 8-32 X 1/4 Button 
Head Socket  

 

  PCS-1000-14-STZ  E-Clip  

      

 1 1 9041-0135-003  Installation Instructions for 
Falcon 900 

B 



 
 
 
 
Installation Instructions for Falcon 900 Series Monorail Sunvisor System 
                                                                  Kit(s) - (RF900-300-1 or R1353000)(R1353100) 
This is an FAA STC’d Installation requiring a log book entry upon completion.                                                          Doc: 9041-0135-003 

Rev Date Approved 

B  10/30/08  GH Please read through these instructions completely before beginning.   
 
 
Hardware: 

4 PS10F12CP02NA  #10-32 x 3/4 Screw 
1 PS10F16CP02NA #10-32 x 1 Screw 
2 PS10F20CP02NA #10-32 x 1-1/4 Screw 
1 A10K80 #10-32 Rivnut 
1 3/32 Hex Key 
1  7/64 Hex Key 
2 PCS-100-14-STZO Retainer Clips 

 

The Falcon 900 Monorail Sunvisor System is split in the center to make installation easier. 
However, the center joint is pinned, so that once installed it appears and acts as one piece. 

The following diagram (Diagram #1) will be used to refer to the brackets by number.   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

86365 College View Road                            Eugene, Oregon USA 97405                                                   (541) 747 0034                                   
                                                            www.rosensunvisor.com                                                       Page 1 of 4 



• First, take the pilot’s side into the aircraft and remove the #10/32 screw which is 
approximately 6” to the left side of the aircraft center line and underneath the forward panel 
to the left of the compass (Diagram 2). 

 

• Now, aligning Bracket #4 with this hole, 
hold the pilot’s rail above the window line 
and see that Bracket #2 aligns with a 10/32 
fastener in the overhead. 

NOTE: The fastener for Bracket #1 is at the 
top of the roller curtains, but in some aircraft this curtain must be removed to allow 
access to this fastener. 

• If the roller curtain is not in the way, or after it is removed if necessary, temporarily mount the 
pilots rail using: 

PS10F12CP02NA for Bracket #1 
PS10F16CP02NA for Bracket #2 
PS10F20CP02NA for Bracket #4 

For the moment, do not worry about Bracket #3. 

• Now remove the rear roller shade from the copilot’s side to expose the 10/32 fastener at the 
top of the roller. 

• Take the copilot’s rail and after removing the fastener for Brackets #5, #6 and #7, pin the two 
halves together and loosely install: 

PS10F20CP02NA in #5 
PS10F12CP02NA in #6 & #7 

• If any of the mounting brackets do not fit quite flush with the corresponding aircraft surface, 
they can be bent slightly without hurting the chrome (cover the bracket with a cloth or similar 
protection and use a wide bill welder’s clamp to slightly adjust the angle as required). 

• The brackets should have their fasteners approximately centered, with the exception of #1 
and #7 (ends). Because of the slots, however, the rail can be moved slightly right or left. 

• The small standoffs on either side of the front brackets are to insure that the rail does not hit 
the side walls, which would prevent the visor from sliding by. 

• With the rail properly fit, mark the center of Bracket #3 for an A10K80 rivnut (supplied). 

• Remove the pilot’s rail and install the rivnut. 

86365 College View Road                            Eugene, Oregon USA 97405                                                   (541) 747 0034                                   
                                                            www.rosensunvisor.com                                                       Page 2 of 4 



• Reinstall both rails and insure that the 10/32 fasteners are snug. Use PS10F12CP02NA in 
bracket #3. 

• Reinstall the copilot’s curtain and, if removed, the pilot’s curtain. 

• Now deploy the pilot’s side front standard Falcon visor and mark the top edge where it hits 
the rail. A notch will need to be cut out of this to allow full deployment and latching of the clip. 

• Repeat this procedure for the copilot’s side standard Falcon visor. 

• Now both Falcon and Rosen systems can be used together, although the Rosen system 
needs to be on the sides when the Falcon front lenses are deployed.   

NOTE: Remember to stow visors overhead prior to opening sliding windows. 

• Stowing is just aft of Bracket #3 on pilot’s side, and just forward of Bracket #6 on copilot’s 
side. 

 

Operating Instructions 

To move visors, turn the thumb tension knob counterclockwise to loosen, and slide the visor 
along the monorail.  To move beyond the mounting clips, 
the visor must be turned so that the slot in the clamping 
blocks can move past the monorail brackets. Your monorail 
system is equipped with a swivel action so that the visor 
can be rotated in the vertical axis.  Rotational tension can 
be increased or decreased simply by turning the two 
socket head cap screws on the back of the clamping block 
assembly.  Prior to moving along the track the visor should 
be returned to the straight fore and aft position. 

To have additional room when the visor is used on the side 
windows, rotate the visor into the window recess. 

To stow, tighten the thumb tension knob, and using the 
visor as a lever, rotate to the overhead. After initial use, the 
right amount of tension to apply will be a matter of habit. 

 

 

 

 

86365 College View Road                            Eugene, Oregon USA 97405                                                   (541) 747 0034                                   
                                                            www.rosensunvisor.com                                                       Page 3 of 4 



86365 College View Road                            Eugene, Oregon USA 97405                                                   (541) 747 0034                                   
                                                            www.rosensunvisor.com                                                       Page 4 of 4 

 
Continued Airworthiness Instructions: 
• (On the ground only) 

o Periodically clean the lenses with a soft cloth and Rosen’s Plastic Cleaner, 
Polisher & Protectant, or mild soap and water.  Do not use abrasives on the lens. 

o Periodically adjust the pivot tensions on the visor assemblies. 
o Periodically clean rail using a non-abrasive chrome or other non-residual cleaning 

technique. 
o Periodically remove and clean the clamp features on the visor clamp block using 

an alcohol based solution. 
• Updates to this Continued Airworthiness section are available on the Rosen Website. 

(www.rosenvisor.com)  
The most up to date version of this document is available on the Rosen Website. 
(www.rosenvisor.com). We recommend that you periodically look to make sure you are using 
the most current version. 
 
Airworthiness Limitations: 
The Airworthiness Limitations Section is FAA approved and specifies maintenance required 
under §§43.16 and 91.403 of the Federal Aviation Regulations unless an alternative program 
has been FAA approved. 
There are no airworthiness limitations associated with this installation. 

 

http://www.rosenvisor.com/
http://www.rosenvisor.com/

	9041-0135-003 Rev B Installation Instructions for Falcon 900 Series Monorail Sunvisor System.pdf
	                                                                  Kit(s) - (RF900-300-1 or R1353000)(R1353100)




